cAR A 2 111 # RATERY L B IFRE

# PR ¥ B(#BHRT)
TREF Y38 60448

1.AZE3EE 4 F (A3 A 138) -
QAFPHEIRFTIFEER
3ARIA GE A SR FEFES SR LR AL &R 0 £ 100 4 o
A4 E 24 NS R LAY A RS E RPN R AR A 6 R R
R ARSI FRECEREFLF 20 0 PREFHLEEE
FSEEE FHM o L R AREPATR KR A MR A APEE A3
I8 RAWANES
6%%%@%&*% FLA D ¥ 6 R
TS AT YL FUALE R A BAS YRGS RE I RBFLG Y
1* Lr"zB’»o
CHE AR D40 %038 FRE2 A 0 £ 40 )
L= i M o 5 2 himph 8 @ @@ pr > 7 0L P R Fh o
2.8 - BHRBABBEREG > 2T - BRB AR I bR RS AR 0 B4 Ea
I 0 AR o
3amAR R S e g RETTAS  fET AT TR 2P R \3§1§:—,ﬁ’5§&&@ﬁ:& °
4rhetl 60 % > e 3R Hd o A R D Do SRS mm °
S SHLRZ MR F AL R W10 I iR e o
6.5  fhfie £ ¢ » Edhic 5302003 mmer it 23030 mmpe & Pl H R L 2 AR R G mm e

T.oodIE e 2 AR S °

8 KRB * ERE /S5 300mm e ] EEE LS 30mm e FAR B EEALISHSNES >
ERIINES I 2 kgf o

0. — A F B A Rt i 2 726 pm - /25 20 cm B#RE £ 5 60 cm
AAERG05em %3 F# B B#hE:# rpm e

10.—- $H4p % 07 Bz > A P 5 120 rpm o K F s M 5 20 rpm > H K F S B &
W M 2 S °

1. - S %rE? > #7958 /55 60cm » B 9 5 2 gaihd fior 6] 5 60% 2 204 - § 56 B YrEF
10 Bl > g8 wabie Ak o (% & =3.14)

125 — “FEFIHL AR > © od fh2 JE4 S 120 cm > 2 $dh2 #5100 rpm > jE I 2 i
,?20rpm"ﬁ%g_b_#ﬁl cm o

13- F<F#EIL: 3em> £ 5 1.5m> F3% 4 - 248 2500 kgf-cm > 5 #4412 B thdic i
1x10°kg/em® » R EHF o FlAd 2@ s s B oGREI P EBER2E
T T s % % =3.14)

143 - 4 & 5 240 mm > 575 100 mm > B & 5 30 mm - B3 B EURT 4 5 300 kg/em’ >
BEMmEHETE > g ab ) T4 5 kg

(o7 wigivi]

|+
A~
>

WHEEEZ % 1 |



1540 [B 1) #fm2 Lo gt ~F > BT R G

5 kg/cm? o
oy = 2000kg/cm? ’. 6cm )
o, = 10000kg /cm? o, = 10000kg/cm? r :
—p] o——— Gt T3
l & |7

oy, = 2000kg/cm? | A T |B

. 2cm

[®1] [® 2]

1640 [® 2] #7772 Tl 6 f > 235w 3 &kf AB 2 JESY 3 cm °

1740 [B13]) #7m 2o 88F 2 & » Kt &85 ¥ 3> Ki=

F e 8 40 N/mm > K>=40 N/mm > K3=80 N/mm -
Plie s ts2 WlF ¥ s N/mm -
S —40cm |
Ky
P ;
K, Ks - )
h
w
S S
[® 3] [# 4]
18- F w3 £ 4 l4c [M4) “77 > 5 40cm> 3 5 80cm> £ 5 200 N> $ 482
2 FBEEERE &

04> %45 —- A PP R dFn 2 REFF > EA*FAh: cm °©

AR e el LB AR A B [R5) - [B6) iR o

IN “'ll |||1(i’| IH J f|{||||||||||||||||

(*a A 5‘.'&‘%’ fio)

[® 5]

[® 6]

[ 7]
20.4c [® 7) #57 » 4R 0.05 mm 95+ © k83 %

Roapprs Ha g yMmn T
G 5% W1 b S N = S 9 mm -

WERZ % 2 F % 4 F



SRR E B E 60 %R0 £ 60 4)

Lde [B18) #17% » t? L (L2)Ak< B¢ f mP=2880 Neifj £ 2  #EE R L=6m  H f#
bR A S b BAGhGAEA 0 ¢ arh=4b> FHE 2RE SR LAETER 0 2 gRang oEy
¥4 R 60MPac 2P AEALEE  BR\EVREE G DB AP (154)

(78]

2- & F HE BAhe [BO) #77 » FHIEBBH M EER 0 EFFS S vl > ¢ wHE L D=20cm
»a=18cm> L=100 cm,ﬁﬁ%”?f;%%% Fi$t £l se 4 Foz vt & Fi/Fo=3 4 % S 3tk eh

+]#5 42 2 T= 1000 kgf-cm » 2 F ¢ (248> £ 154 )
(1)%%‘;%-354 Fi 5 %5 kef? (74)
(2)ie* »r4ex42 4 P L 55 kef? (84 )

[ 9]

3.- #l# B [B10)] #r7 > B3k e S5 40 cm > F]H 4 P4 A AR 2328 B 2 £ 3
B BERAIEHA CH B D P2 Biid: 02 B2 2485 200 kgfom > gk
(245 #4540 X 104 )

(DFEB. CIE® 203z e 4 5 50 kgf? (54 ) AP

(g€ 3t B oL 2 o] 184 P 5 %5 kef? (54) 5 || T
g | 5 - - B “
4l 1B / o

1 251/ D, "\,

E%}E f?f\‘ 1

~D— f& — ¥ D O’))_ -—
;\=_\ N

5cm ~ ! / 4

40 cm

PRRE % 3T £ 4F (G gl = AP



440 [B 11] #77F > - 22 8cm 2 4k fldh > @ SR 2 > T U TR 2em> 3 & H» &
10 cm 7% 4 5+ i@ & #0460 tpm e 303 1 Bikd o F T4 T R4 5 6MPa
B4 5 8MPa iEdt (34T ¥ 204)

(Dfn#r i K% g A 2485 55 Nem 2 (64 )
Q)17 2R Es > mm? (64) \Q&\
Q)b ihifenst § 5 50 24184 2 (84)

2¢1

<
<

__,_.__._._.k.\

(& 11]



